FERIENAUFGABEN 6-ULASE  LOSUNGEN b, a) _4.Venud:| ...

L) r
H-(?w | - ol @
2 y MK
Aayo-Rg-2.2 o —pe2-42 . _spe7¢ 3,y S EA
L) = [(slw +2)= 0383z (-oas-42) =[inpe-03¢ [+ (- )
= A93:(-3) = - ¢ oz m
€) = 0,03 -0 (46} +24) = Qo3 - 343 = - 3¢ . v Faila,
d)= (4500 du? - A0¥00dh?): Zo0dd - FOAS . 300dt 20 . Q) V= Mu-Fu B = ffur G = urnd
L) A =fucfoos = Sw-Te = $§ L2
La) 04-35€ = M€ L) A% 2 0%ku 5/ & Y0l ) woAe T R e “
c) A4 0§ = 0% = 0%
) ‘ ' £.0) V= 530w G Y = M2ege0 WF
2 3
. 198 €L ¢ ASy = 3Cqy (Felbiieu
A < A . 2
107-‘ H 307 = _— 1+ 5% L) L = -C:___'— = 9647 w Z(Cu. . r?‘(ﬂp.) =6}3u4 = 20 ca

teo/ @ A6l

3. 0\.) OF = 27- (Alru-'af‘Zu.. + "|S-“~'0[3u4 + AIZu..'olfua)
¥. a)

= 3 3036wt Stat

A e = (482 ¢ 42+ 0 360 )
Asq)e: € o g'cb-l-q = fMlé m.z ot :}‘32_ u-gz
- : 1 2 1 . 2
L’) ‘5% = “:F =02l 9 wa Y Lluive, L’) 03w = A6 ek ( de s € = 6ol (
;
;‘c = ACdE D Q= Yo V=a= 6% L’
= = = “ae 2 ° k;.
c) —S—_F‘— Y = Yoo, = wa 00%  §<fle
40 q) A0.20 Uby
Y = 4 .24 - 42 L) 9.3 U Lis A0.00 Uk  olse & Wd.
A4 2 1 t 5 AF‘?L - 1(4 3 L =0¢ ) , ) | 2 !
1 ( 400 HiLkeuwweder
A N G ARY

c,) 15 ml'm:‘ifc Povse oder shuwtdhes
d) 30 H:(‘lchu.c":cv pr Yhaude



